HSC 2001 - Personal Development,
Health and Physical Education

Question 15

15  What physiological changes occur when an athlete uses aggressive behaviour that results
in over-arousal?
(A) State anxiety is decreased.
(B) The central nervous system is depressed.
(C) Attentional skills are enhanced.

(D) More motor units than normal are recruited.

Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 40 37.4 35.6 14.7 111
B 20.5 19.4 23.7 16 17.5
C 21 16.2 9.2 4.4 6.3
D 18.5 26.9 30.7 64.5 65.1
N 0 0.2 0.8 0.3 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the
borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to
identify: No valid response.
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